53 A catering service can prepare and serve 4 office banquets per day.
Which graph represents the number of banquets prepared and served in
a 10-day period?
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The time # that it takes to complete a work order on a construction project
varies inversely as the number of workers w assigned to the project.
Which table shows the relationship between time and workers?

A w 3 4 5 6 B w 3 4 5 6
t |20 25| 30| 35 t 20110 5 | 2
CTwl sl al 5] s DruT sl 2 s 6
t |20 15| 12| 10 t | 30] 35| 40| 45
E w 3 4 5 6
t 40| 30| 20 | 10
What is the value of 2¢ — 9 + d?ifc =4 andd = —3?
A 9
B 7
|
C 9
1
D =35
E —3.75
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A catering service can prepare and serve 4 office banquets per day. 53
Which graph represents the number of banquets prepared and served in
a 10-day period? 1.B.2.
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The time 7 that it takes to complete a work order on a construction project 54
varies inversely as the number of workers w assigned to the project.
Which table shows the relationship between time and workers? Il.B.2.

ATwT 3l 2l s s Bl w3l 2[5 s
t | 20 25 | 30 | 35 t |20l 10| 5| 2
CTwl sl 4 5] 6 DIwT =l 4l 5l o
t 120015112 10 t | 30| 35| 40 | 25
ETwT 3l 2] 5[ 6
t | 40 30| 20| 10

What is the value of 2¢ — 9 =~ d?ifc = 4andd = —3? 1.D 1. 55
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